Linear Algebra (II) Exercise (Week 5)
March 20, 2024
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BRTIE, 27 e,¢ »uli P(R),My(R) 1 standard ordered basis
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sk [T]z;’ 2 By #9595 P(R),M(R) ¢ ordered basis
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#Faulr (a), (b) ek ReL K N(T) v R(T) - % basis.
B = (v1,v2,v3,v4) & V &= ‘& ordered basis. £
W =V —V2+V3+3V4, Wo = —V| — V2 +V3+2vy,
W3 =5V] — Vo +V3+5V4, Wy = V) — V3 — 3Vy, W5 = V| + V5.

&R w;, $ated < BT V - % ordered basis f’.
IE\‘:,{ TB/ ;; * [3/ ;f—!-V _'_l_ ’f%—l"‘ rﬂmﬁi, Eik,a—r Tﬁ/(V[), 1= 1,2,374.

® p: » ik (Tg(wi), Tp(W2), Tg(Wa), Tg(ws)) = (T (v1), Tpr(v2), Tp: (v3), Tpr(Va)
IR T

linear transformation 7:V — W.

B3k T % isomorphism. #Z#P 5 & V, W ¢ ordered basis B,y ¢ ¥ [T]g £}
identity matrix.

(b) B3k dim(V) =m, dim(W) =n ® rank(T) =k. 7P 3 & V, W 1 ordered basis

1, ifi=j* 1<i<k

By ##® [T]/B = (aij) & nxmmatrix £ # q;; = { 0, otherwise.



